B S

. T in the world 7
Which of the following is the largest inhabited riverine island in

(A) Doab ()  Majuli coow
(C) Umananda @ Mamo -
(E)  Question not attempted pe-s
ﬁwﬂ%gﬁmmw&mmgmﬂﬂwaﬁamﬁ? , o
(A) (B) N
@ o (D) (A
(E)  orgaia war =
1
2 Which of the following river is #of o part of Indus River System ? :
(A)  Satlyj (B) Chenab 7 (
(©)  Kosi (D) Ravi
(E)  Question not attempted
ﬁqﬁ&aﬁwmﬁﬁgwmam?ﬁ%?
A wags (B) =
©) =wht (D) Tl
(E) rgafawy
3 Which of the following Lake is not a Saline water lake in Rajasthan?
(A)  Pachpadra (B) Sambhar
(C) Didwana (D) Pichola ’
(E)  Question not attempted
ﬁmﬁ&mﬁﬁqﬁsﬁa@&mﬁaﬁtsﬁawﬁh
(A) 9=49=sT (B) ®HIE
(©) Er=am @ e (ﬁ@m
(E) Srafawx
4 Which of the following is the application of
, computer mostl i i
(A) To provide assistance in surgery ((,;)y us":: ::I:-emted“:ia‘ ﬁ?ld?
(C)  To visualize 3D objects st
(E)  Question not attempted (D)  To provide distance education ’
Frafafiaa # & Frepcw P pssicet
= ETq: ﬁtﬁ.ﬁﬂq Haifirg
(A) e faferean § gemar 3 Bmﬁm b
(C) 3@ efrﬁa{aaﬁm%:tfm ((D) mxﬁm ! \
() sgafawa - . . sy ! ) B - il
5 Which of the following is not the class/c
atego '
(A)  Parallel Computing s comp:;x;rs,? Mi
(C)  Mini Computer T Compmater
(E)  Question not attempted (D) Muinframe Computer .
v
ﬁﬁﬁﬁaﬂﬁﬂmmwﬂwﬁ/&vﬁmg, "
A)  Otere wefen
EC; el _ (B)  wgeRy ey
. (D
. @ gy : e
A 1 l ] ® LI : 2 " N " . i )
: . . | . ¢y et
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6
(A) Ravi Kannan (B) Kailash Vidyarthi
(C) Ghazal Alagh O (D) Gautam Adani
(E)  Question not attempted
forer Tl 3 2023 0 A g sftam (B i w3 Faed )
) TrFm Cf'{; @) e et
€) TIIEE - (D)  haw 3rEE
(E) Hquiasst |

i E

7 Critical Minerals Summit 2024, was held in which of the following city / U.T.?
(A) Chennai X&) (B) Mumbai
(C) NewDelhi (') () Kolkata

(E)  Question not attempted

b
ffoae firren aie@ie) 2024, fra wret/ Szmfad Ser 3 ayraifera fomar man?

(a) == a ®) =
() % foeedt — (D) FHiaHEr
(B) FaiEwH

o]
8 The famous speech by £t

- (A) Tryst and Co-operation (B)
(D) Tryst with honesty

Tryst with destiny

(C) Tried with dest
(E)  Question not atregpted

14-15 37T 1947 aﬁrmmﬁaﬁqﬁammmmﬁm 7T wfirg MT9T ST ST & o)

—

\0
Jawahar Lal Nehru, addressed on the midnight of 14-15 August 1947 is called

0874

) FrewEwR ® fefeifs -
© g ©) frefrst
\0 O
(E) FqERaATE () o
2 The cities that were di?‘id into communal zones during the partition of India were- ;:i
(A) Lahore, Bihar and/Calcutta Foe)
(B) Lahore, Amritsirand Hyderabad (&)
(C) Lahore, Anuitsag_%nd Calcutta -rji
(D) Amritsar, Calcutta and Jammu & Kashmir
(E)  Question not atfempted W0
v 5 varat 3 e e vt e e e - M
(A) e, faren i e <ff
(B) TN, IAET a%mrc LI;)
(C) e, Irgawt STHeFl o
(D), SR, FeaTST e T t-_-:
V

()

(E) FIaRawd
All] X

Which Indian
ian has won the 2023 Ramon Magsaysay Award? (Choosc the most appropriate option from below)

[ P.T.O.
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i

10 Given below are two statements:

s chairmanship of
Statement (I): In April 1919, the Udaipur state government formed a Commlss_l.on. under :thhe ey
Mandalgarh Hakim Bindulal Bhattacharya, in order to listen to the Complaints of Bijolia farmers. (
advocated various recommendations for the benefit of the farmers. s
i i i mad
Statement (11): Officers of the Forcign Ministry of Indian govenment believed that a quick alliance shou e

i i i jputana.
with the Bijoliya Kisan Panchayat, otherwise the peasant movement may take a violent form in Rajpu
In light of the above statements, choose the most appropriate answer

from the options given below.
(A)  Statement (1) is incorrect but Statement (11) is correct.
(B)  Both Statement (1) and Statement (1) are correct.
(C) Both Stntemcm {]) and Statement (") are incomt‘
(D)

Statement (1) is correct but Statement (1) is incorrect.
(E)  Question not attempted

T & e o E:

: il
(A) =97 (1) 1o R S = () i ) (B) =9 (1) R Fw= () I T B
©) =1 1) SR w9 () SH S e D) w5 () v A =T () a2
(E) guia wa
11 Which of the following is nor a type of Iron ore?
(A) Lignite (B)  Siderite
(C) Limonite (D)  Magnetite
(E)  Question not attempted
T8 ¥ e st w v T
(a) famre (B) 3= (Rrzwer)
L©) femrme ©) e
(E) aiEus
12 Which of the following is an example of joint sector industry? (Choose the MOSt appropriate option from below)
(A)  Bharat Heavy Electricals Limited (B)  Hindustan Aeronautics Limtied
(C) Oil India Limited (D) Steel Authority of India Limited
(E)  Question not attempted
ﬁqﬁaﬁaﬁﬁaﬁqmﬁgiﬁ éaaﬁmmqmmm%?(ﬁqﬂﬁmawgmﬁmmgi)
(A) wma ¥ Sfaraey fafies B) Rewm Wit fafipe
~C€) e e fafyre (D) A i it ¥y e
(E) wrgafa sg
13 Which of the following is a mineral-based industry?
(A) Food Processing Industry (B)  Textile Industry
(C)  Fish Oil Industry (D) Petrochemicals lndustr)-
(E) Question not attempted
frefefaa 5 & %% ar afis smafer sgi ]
(A) T SR Fem (B)  aWIUM
(€ FEEwEm D) Wi e
E) 313?[&3 g
4
Al &®

[ET0.
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.'F/‘r;b P @
14  The average of 11 observations is 50, If the average of first six obscrvations is 40 and the average of last six
o observations is 55, then the sixth observation is:
@ ;I syl o 3 50 1.3 vea we sreial w1 st 40 8, ait sifow o s w1 sha 55 8, @ wan s
l S
Sj: A 3 B) 30
x>~ () 40 P 20
(E) Question not attempted / aqaﬂa 0y
15  The length, breadth and height of room are 12 m, 9 m and 8 m respectively. The length of the longest bamboo pole
that can be placed in it, is:
(A) 15m (B) 19m
() 18m (D) 17m
(E)  Question not attempted
s FHA 12 Hr e, 9 H =er i 8 H S el mﬁr@mmmﬁw%@aﬁmaaém%ql
(A) 159 (B) 194t
© 183 ) 17t =242
(B) FgaRa w=
16  The inner circumference of a circular path around a circular lawn is 660 m. What is the radius (in meter) of the outer
circumference of the path, if the path is 14 m wide?
(A) 84m (B) 110m
(€ 119m (D) 115m
(E) Question not attempted
G e T 3 = 3R adery i siiafen TR 660 Tiex 31 af 9o 14 e =Aer & @t gEeh s wfifr < frem,
(rfre ) ¥ g2
(A) 84t (B) 1107 )
_© 19 (D) 1sHH
(E) i 9
17 A shopkeeper sold an article for T 400 at a loss of 20%. At what price he should sell the article to make a profit
of 10%?
 THRR 3 vt e 1 20% A @ T I 400 # Al 10% 1 A FA & forg, I 3w g B R e W
s e
(A) T530 ~B) X550
(©) Z500 (D) T520
(E)  Question not attempted / 3TAId &
18  Who of the following social reformers was associated with the abolition of Sati Pratha?
(A) Govind Ranade (B)  Vivckanand
(C) Dayanand Saraswati (D) Raja Ram Mohan Roy
(E)  Question not attempted
ﬁwﬁmmwaﬁmmwm%mﬂﬂﬂ@?
(a) wfdgTEre (B) fdwrr
(C)  =arE ardt (D) TSIT T e Ty
(E) rguf@wa
Alll P [ P.T.O.
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19 “The Indian War of Independence”, book was written by whom?

(A)  Veer Savarkar (B) Mahatma Gandhl O
(©)  R.C.Majumdar (g (D) BabaAmte Q)
(E)  Question not attefijited
% $fee A i $ftiE] e fws g fered mio ™~
A fwwEw (8) T e o
AC) e T (@) s r
(B)  orgwfd wx r-i _ :~1
20 AR A I \D
(A) v o ate 2Rt gt e R (B) vz i it zfet a1 o e P
Q) mﬁmzﬁhwwﬁ%ﬁt (D) mﬁm@dﬁmmq’faaﬂ?ﬁ%‘ﬁ'
(E) @ wa ™ {IJ )
o0 b
21 e ¥ e R g v
wfr B Sl !
o m;ﬁ@"i L EAEEr
b. @HG’IT‘TF..,%FT 1. A 6 SERCHRAT ;2
c.  afeTyEAr) nL. s feremn <
d ForeT FEr A v, dorfaamr [
ﬁ%ﬁqwﬁwﬁﬁﬁaﬁ%mmmwwﬁw co
) a-lLb-1V,c-Jhd-I (B) a-NLb-Uec-1v,d-1_ &
© a-1V,b-TLc-d-1I (D) a-ILb-IV,c-NLd-T '
i
(E) rafawa ™ '
» L0

22 At the time of India’s Ifidgpendence, how many Riyasat were there in present day Rﬂ}asthgl](Raqutana Regi
(Choose the most appropnate option from below)

P
w#mmﬁr%xﬁ& 19t 35 T T ) et feaee o 2 Pt 3 8w e e )

(A) 29 D (B) 19 o
© 21 il (D) 25 vl
(E)  Question not attempted / et 94 v
23 ‘Indian National Army’ QNA) was created by- (Choose the most appropriate option from bélGiv)
(A) Netaji Subhash Qb';"dm Bose (B) Lala Lajpat Rai 23
(C) Bhagat Singh it (D)  Bal Gangadhar Tilak g

(E)  Question not attdmpted Sy
wefirgara Savren Tl (A8, ) o s fn vy (PR 2 3ves e )

ST TSI U
~A) mwﬂﬁ (B) ~l
- aret e faerw
0 WONE oy " = v
o) AR 94
6
[P.T
Al ®
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Match List-I with List-II.

24
List-1 List-11
a. Chipko Movement I Afro Asian Conference
Bandung Conference 1. A proposal made by big industrialists in 1944
for setting up a planned economy
¢ Dr. P.C. Mahalanobis I An environment movement to prevent cutting
down of trees
d. Bombay Plan [V. Economist under whose leadership the Second
Five Year Plan was drafted
-1 3w g1 6 e i
-1 Tet-11
a.  Tauet e L Y- TR EHeH
T EREA L U R snfsgae wfiE F & fo 1944
F =3 SeiTateral g R T O sE
c. o1t wEeEtE L et e A % forg o wata e
d SR v, sre R e 8 gEd deat de
: Teter dar o T o
Choose the most appropriate answer from the options given below:
) g e fareredt & & waiferes 39g S
(A) a-Ib-NLc-IV,d-1 "~ B) a-Lb-ILc-IV,d-II
(C) a-ILb-Lec-IV,d-III (D) a-OLb-Lec-IV.d-TI

(E)  Question not attempted / A 9
25  In which of the following year United Nations adopted the UN guidelines for consumer protection?
IR TG A e it & o ad 3 ST wear & forg S g & fm e i s
(A) 1985 (B) 1979
(C) 1981 D) 1983
(E)  Question not attempted / TR =

26  Which among the following organizations control the business of Insurance in India?
(A) SEBI (B) RBI
(€ LIC . (D) IRDAI

(E)  Question not attempted

ﬁqﬁﬁaﬁﬁﬂﬂﬂmﬁmmﬁmmaﬁﬁdﬁﬂm%?

(A) &t (B) .. 3.
© ua. s (D) 3T 3 A, a7,
(E) afawg e 5 %
27 Whois the head of the Indian Audit and Accounts Department?
(A)  Attommey General of India . (B)  Finance Minister
(C)  Comptroller and Auditor General of India (D)  Prime Minister
(E)  Question not attempted '
MRClT S e s S i & wg@ A 8
(A) WA % WETATATE) (3HF 9TeT) ®) fawwh
(©) ¥ % e v wereraT e (0) W’ :
(E) orgaf@gs
Sl " e W ' | [ BT.O.
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28 Which of the following is mef a constitutional post? L

(A) Speaker (‘ 1; (B) Governor (‘j‘ )
(C)  The Chicf Justice ~ {Ry BeiCavemor ~
(E)  Question not attempted ™ [\_
ﬁnﬁ-ﬁmﬁﬁﬂwmwﬂ&mﬁ&fﬁ?ﬁ%? oo
(A) S st et (B) AR =
(© & =mm ‘_“ (D) 3t T 1
(E)  3raf wx i L
29 Asper the Constitution of India }hc name of a state in the Union of India can be altered b)’(:
(A)  Parliament o (B) Cabinet Committee \ o
(©)  Govemor _ _ﬂ’ (D)  President "
(E)  Question not attempted 9 b 29
m%mﬁlm%agm mw%ﬁmmmmﬁmﬁﬁawnmmﬂﬁaﬁhﬁmmm
(A) o (B) dfrize afafa (48]
© m o (D) THfa ©Q
(B) rqefaws o ™
30 Identify the most appropriate English translation of the given sentence: -
T IS AT T @ F e amet o :
(A)  Fresh air can be had only Outside. ~B) He came out to eat a little l’r%sh air.
(C)  He came outside for a bredth of fresh air. (D)  He gulped some fresh air gfside-
(E)  Question not attempted I™ e
. e~
31 Choose the most appropriate Hindi word for - “Endorsement”, v 5]
(A) STF - (B) WIS TN O
(C) uBEA F= i (D) YR FEAT i
(E)  Question not attempted —
32 Which of the followmg best dek;:%bcs the function of control unit? \O
(A)  Perform the arithmetic operatlons ™
(B)  Control the operations o ,g_'ncmory, processor and input/output devices, =7
(C)  Perform the logical operations. ™~
(D)  Convert the external da form understood by computer. (ve)
(E)  Question not attempted o
P & & 2, ier e . ol sl e s 2 e
(A)  FEnforda aftare 71 e .-
(B) W, ST ST A/ STFZIE ST 35 aftarrert b o
(C) a7 uftarer #1 ﬁwm 0
(D) mvmmw#nmaﬁmﬁmumﬁﬁhmmﬁmmﬁmﬂm ™
(E) i@ gy ™~ <
33 Khadi Kamgar Arthik I’rotsahﬁ.j{ojnnn has been implemented in the Rajasthan state fro [~
(A) 16 July, 2024 -l (B) 13 July, 2022 W
(C) .14 July, 2022 v (D) 15 July, 2023 =
(E)  Question not attempted ™ ™~
TSEAT T4 8 vl wrare sinfidan siveanmees e o @t a6 wé ™
(A) 169, 2024 (B) 13 5@, 202
(©) 145, 2022 (D) 15 ‘ﬂ("ﬂf 202

(B) SAf@na
All]l X® 8

[ P.T.O
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Match List-I with List-II :

34
List-I List-11
Scheme Launched
a. Shgdh ke liye youdh L 26 October, 2020
b.  Nirdgi Rajasthan Abhiyan II. 18 December, 2019
c. Ind;rzl Rasoi Yojana . 20 Augusléqm
d lndrui Gandhi urban credit IV. 24 February, 2021
card y yojana o
oL 5 11 o e i ©
52 T 2
AT !
2 kIR L 263, 2020
b, i s e L 18 fewe 2019
c. Rt L 20 3, 2020 -
d :f?ffﬁﬁﬁmﬂaﬁ%zamé!ﬂw V. 24%@Ed, 25):2‘1 "
Choose the most appmprmte answer from the options given below: — =
2 R e forredl § & warffares Fuge Sot Al il
) a-1v,b-il,c-10,d-1 B) IbII I d-1V
© a-Mb-{Pc-1v,d-I D) aIIIb bcl,dn
(E)  Question no ﬁ—i attempted / AT I ; =}
35  Indira Gandhi Nahar Project (IGNP) is better known as the life line of - (CHoose the most appropriate option from
below)
(A) Southern Itlg}asthan (B) Western Raj_afthan
(C) Eastern _]a‘sthan : (D) Northern R.;jasthan
(E) Question nod an’ attempted
<y el e R (o, S, . <) i Frerffiad # & e dee, Gﬁqgr}@nmm%? (Frer % & Wl 3T
g &
(A) a&vﬁmﬁlﬁ B) ufErf TS
(©) q@"fnmm (D) I TSETE
(E) raiawd =i
36 Salt water cmcod\ls is main fauna of which of the following biosphere reserves?
(A) Panna ) (B)  Simlipal (£}
(C) Great N:cqbg: (D) Kutch  ¢vy
(E) Question nQ_ attempted SNl
@ﬁmmnwaﬁn%ﬁgﬂﬁﬁmmﬁaﬁmgmsﬁa%? B
(a) v ®) fmfaoe o
©) ﬁzﬁﬂ%ﬂrﬂ.l : ® Fw
(E) HgaRa 9y -
v
37  Which among thé following is the longest river of Rajasthan?
(A) Khari (1) (B) Chambal ‘O
(©) Luni < (D)  Sabarmati (¥}
(E)  Question not attempted b
Prefirfiaa o & TereuT o) gad awlt T e 87 £
@ @i O B) s DO
© e D) W O
(B) rgaRaya-{ v
All] ® ’ & [ P.T.O.
— T T —
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i ion from below)
38 The Thar desert comprises the desert triangle of three cities - (Choose the ";ozthail:r_();:::;pt
(A) Jaisalmer - Jodhpur - Bikaner (B) Ja‘tsalmer - .0 . P R 43
(C)  Bikaner - Jaisalmer - Pali (D) Bikaner - Jaisalmer
uestion not attempted
g?:iﬁrgnﬁ S - g & - (Fer @ s 3 e )
(A) e g - () Swwin. Fug. T
© - et . areh (D) ST - e - AT
(B) orgafaws
39 What is the food pattern ratio of GOZ and GOR in National Food Security Mission (NFSM) on wheat and puls
launched in Rajasthan in the year 2007-20087 ; d 44
T # 20072008 % e g o g e el 3 gt e e R (. T, T8, T, 3 1T GOZ W Gog
HEM F ¥t 1 s
(A) 80:20 (B) 60:40
(C). 50:50 (D) 70:30
(E)  Question not attempted / A v
40 Which of the following sector plays most important role in the economy of Rajasthan state?
(A)  Education Sector (B) Industry Sector
(C)  Health Sector (D)  Agriculture Sector 45
(E) Qﬁcstion not attempted :
Tsred T e & e 3 & S e a4, reafers 9 F i wee w1 w22
(A) fimemas (B) EmEm -
(C) w==Tay (D) Ffvas
(E) rai@wy
41 Which of the following are cash crops of Rajasthan state? (Choose the most appropriate option from below)
(A) Soyabean and Cocoa (B) Cotton and Tobacco
(C)  Teaand Sugarcane (D) Coffee and Cereals 46
(E)  Question not attempted
Frefrfias 5 & 2 i arorea e i ) wwer (= 1 8 et e ferer )
(A)  wrarEfT s Fe (B) e 3R g
(©) =TT (D) Tl AR
(E) wrqaf@us
42 National Rural Livelihood Mission (NRLM) is implemented to eradicate poverty for #6085 A5
Rajasthan state during the financial year 2022-2023, S
(A)  slum poor ‘ (B)  rural poor
(C)  urban poor (D) tribal poor 47
(E)  Question not attempted
ﬁfﬁaaﬁzozz-zsaa@mﬁngfmmmﬁmmmﬁﬁmﬁmm‘ RS SR AT — &
T 3 & forw fa 2 P, —
(a)  goft hash fdg B)  wmhor fda
(C) et frdw (D) S Pl
(B) orgefa s
Al ® - Al

Whic
(A)
©
(E)

(A)
©
(E)

‘Do
(A)
©
(E)

(A)
(©)
(E)

Natt
(A)
©
(E)
=|.'T'§l:<
(A)
©

(E)

Col
(A)
©
(E)

(A)
(©
(E)

Fir
(A
(C
(E
Y
(A
L
(E

[PT.O. All]
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43

44

45

46

47

All]

Which one of the following is the oldest oil refinery in India?
(A) Haldia refinery (B)
(©) Koyali -giﬁnery (D)
(E) Quest@ not attempted

e & S S S e et - 2 2

(A) e fpredt (B)
() et i @7
(B) guRESA
v
‘Doddabetta’ is the highest peak in Tamil Nadu. This is a part of which o
(A)  Pir Panjal Mountains (B)
(C)  Aravali Mountains (D)

(E)  Question not attempted
Srergr ARTS TR Feaw S ) e e i e it e o
A) e wda @ dafdd O
© mﬁﬁh (D) wagerTEfeAl v
(E) STIuREyA 4
Nathu La Pass is situated in which State / UT of India? o
(A) Amna}%l Pradesh (B) Meghalaya £
(C) Jammuand Kashmir (D) Sikkim i
(E) Questilorg not attempted ‘ E‘“‘
AT T (&) T 3 fo T / e e & feerd &2 S?;
(A) STEUTEE YT (B) Wue™ :-i
(C) = TR Ap) fuferm it
(E) ommRasx :
Colour blind pérson is unable to discriminate between :
(A) Blue and green colour (B) Red and yellow cr(ﬂf%ur
(C) Blue and red colour (D) Red and green °°f5’--
(E)  Question not attempted :
ot (T i) =t i i 3 e g e ored e d g
(a) enSeEaon (B) e e
(©) e i eme (D) VAT oy

el
(E) Aqai@qd

WO 0
First Indian spafccraﬂ which will carry 3 members and will orbit for 3 days in s;‘r}&e is:
(A) Bhaskar3 (B) NISAR i
(C) Gagaryaan (D)  Spadex ey
(E) Questﬁﬁ not attempted UQ
o Tt Sf=ifEraT i 3 Fawi Fr & s i ag e # 3 R F R 3
@A) e @) @ wam
© (D) Wi
(E) rgai@ wd

11

®

10

Mathura refinery, &
Digboi refinery {;:-)
u:*!

fremtt U
meﬂ Lo
-

|

Nilgiri Mountain?f’.“
Satpura M°““miﬁ§_|a

l‘*«.
T W R?

f the fol‘lojwing famous mountain range?

[ P.T.O.
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48  Which of the following is not the allotropes of carbon?
(A) Diamond (B) Fullerene
(C) Ethanol (D)  Graphite
(E)  Question not attempted
Frfafaa 3 & -1 Fre & sy @egm) T8 82
(A) wwEE (B) g
40) T (D) A
(B) i@y
49 Which Indian Constitutional amendment raised the age of retirement of a High Court Judge from 60 to 62 years ?
(A) 18" Constitutional Amendment (B)  15% Constitutional Amendment
(C) 16" Constitutional Amendment (D) 17" Constitutional Amendment
(E)  Question not attempted
o viTcelver s wreiver & wew e 3 =it it it 6 s 60 9 & TR 62 7 F AP
(A) 181 s deive (B)  15atwfaym weieA
(©) 163t wfaum deim (D) 173t st e
(E)  Taia v
50  Match List-I with List-II.
List-1 List-1I
a. Goods and Service Tax L Article 82
b. Delimitation Commission 1L Prime Minister
c. Survey of India - IlI.  Dept. of Science and Technology
d. Dept. of Atomic Energy IV.  Article 246 A
Gft-1 < arer -1 =1 frem ifsg
-1 -1
a. SUEINTH L =R 82
b, uffieT s IR CIELE]
c. VI TaEvT (WS AT 3feam) . e o S finmm
d. Iy faam V. T8 246 A
Choose the most appropriate answer from the options given below:
e fa e fersred 6 & waifaes Iug S
(A) a-1,b-IV,c-1,d-1I B) a-Lb-T,c-TLd-1v
(C) a-1V,b-1,c-NId-II D a-1V,b-ILc-T,d-1
(E)  Question not attempted / ﬂiﬂf’(ﬁ a4
51  The concept of ‘equality before law’ is an element of the conc.trpt of *Rule of Law" which was Propounded by -
(A) Ivor Jennings (B)  Paul Janet
(C) A.V.Dicey (D) Lord Acton
(E)  Question not attempted
T o A& WAL i SR A & A dﬁmmmaﬂqmmtlsﬁﬁm:mwﬁmﬁa%m“mm
(A) S () HE
A0) U T (D) i e
(B) IRa s "
Al ® : - [ P.T.O.

11
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52 The actual growth rate achieved in the 11" Five Year Plan was: (Choose the most appropriate option from below)
1t creraer 2o i favere e foren gfi @ s oy w7 (Pt i @ werd 39 fomeT )
(A) 10% (B) 9%
c) 8% (D) 7%
(E)  Question not attempted / 37wRa W&

53  GST Council is a Constitutional body established under the following article:
a@’qa‘ﬁmaﬁqm@ﬁ%mﬁmﬁ?ﬂﬂ%, ﬁmﬁwﬁmﬁ-ﬁﬁ?ﬂﬁﬁﬁmaﬁ?’ﬁ%wﬁ:ﬁmﬁm
(A) 122 _B) 279A
(C) 184(1) (D) 247
(E)  Question not attempted / 3TTaRd W

54  Which of the following tax generates maximum amount of revenue for the Government of India?
(A) Corporate Tax (B) Income Tax
(C) Sales Tax (D) Custom Duties
(E)  Question not attempted ‘

ﬁn%rﬁ@aﬁ&mﬁmm,mm%%qqaﬁﬁmmmmm%?

) Pt (FIIRE) FT (B) I
© fofia (D) HmTYTh
(E)  S7di@ ¥
£5 Which of the following is outside the ambit of GST?
(A) Motor Spirit (B) Natural Gas
(C) Tobacco (D)  Alcoholic Liquor

(E)  Question not attempted

i f & 7 aeg U a1 HCH R A AR E?

(a) = feafe ®) Wl
«C) @ AD) W
(E) Fufawd

56  Overwhelmed by the beauty of which of the following forts did British Historian James Tod say that - if he was

offered a jagir in Rajasthan, he would choose that fort ?

(A) Nahargarh Fort (B)  Chittorgarh Fort
(C) Taragarh Fort (D) Bhainsogarh Fort
(E)  Question not attempted

ﬁqﬁiﬁaﬂﬁﬂﬁmmﬁﬁwﬁwmﬁﬁwmmmﬁm% qfe 378 Troreen & felt smiic Y
Srerar 1 ST, 7w 9 | Rt g ?

(A) AT e (B) fasitemg farem
(E) oaia a4
&7 Which language is spoken in the areas of Banswara, Dungarpur and the nearby hilly areas?
(A) Shekhawati (B)  Hadoti
(C) Mewati (D) Vagri

(E)  Question not attempted

m,waﬂtm%mw&rma}ﬁﬁmtﬁwiﬁﬁwm&z

(A) dr@mErd (B)  wrgkdt
() Fardt : (D) angh
(B) Tgaid ¥4 ’
All] ® 13 [ P.T.O.
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58

; . ; . T ible heritage list?
In which year was Kalbelia dance form included in UNESCO’s intangi
mﬁmw@nmﬁ@m&wm@ﬁﬁmaﬁﬁﬁﬁﬁ fepat Tram 477

(A) 2011 (B) 2008 ™)
©) 2009 (D) 2010 <
(E)  Question not attempted / :H':;FI'RH k] ["
; P
59 Fill in the blan?‘_‘%iih the most appropriate option : {J::
e T forere & wfie -l
2% 651385, ol
.(Aig 317 (B) 204
(© 194 s (D) 206 O
(E) Quesliog _“g!mt attempted / Tala W= f}*}
60  Inthe given question, choose the number letter group which is different from the others.
ﬁt{ﬂqwﬁaaﬁ@rwa{ggia}mﬂmél [~
(A) OE3 m ~B) PH3 (#9)
© x2 o (D) I1B5 o
(E)  Questiontiot attempted / ST & i
61 When was Raj;sthan Information Commission constituted ? ™
(A)  April 28, 2006 (B)  April 18, 2005
©)  April 185006 (D)  April28,2005 &
(E) Questiomot attempted M
TSI e ST 51 T ot g2 s
(A) 28 31, 2006 ®B) 183w, 2005 b
(© 18312006 (D) 28ada, 2005 OO
() refaws o
. -
62 Which of the following position is rot mentioned in the Constitution of India? —
(A)  Loksabha Speaker (B)  Prime Minister
(C)  Chief Minister ‘ (D)  Deputy Chief Minister
(E) Question"ﬁot attempted w
e & 2 w2 e i o s e e v M
(A) ?ﬁﬁrﬂuﬁ"_ﬂtﬁ (B) W =
(©) g@mﬁ% (D)  3vTEH g;
® iy o
63  Who among the- following commonly serves as the Chancellor of State Universilie;s?{
(A) Governgr (B)  Prime Minister -
(C) Minister of Education (D)  Chief Minister
(E)  Questionfiot attempted (o)
ﬁmﬁiﬁﬁﬁﬁfﬁfuﬁhmﬁﬂmﬁ%gﬂﬁqﬁ%wﬁmmﬁ? . M
(A) TSl (B) R <t
© oA~ (D) FewE | i
5 :
64  Geostationary é;_%:lliles are positioned at km upward distance from cnnl}_s_‘,
k(R G Lk (L S cor sty SAT SN Y o~
(A) 45990 (B) 26000
(©) 36000 (D) 55690
(E)  Question not attempted / 3refa s
Alll ® =

13
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(A)  Copper oxide and dinitrogen oxide (B)
(C)  Copper nitrate, nitrogen monoxide and water (D)
(E)  Question not attempted
| S U (aq) T (i) sl s 2ar d-
(A) I ATFTES U SIS iTse (B)
(C) HWAEE, AN HIHIISS e qrfy (D)
(B) iy

66  Sonriver is a tributary of which of the following?
(A) Narmada (B)
(C) Yamuna (D)
(E)  Question not attempted
R 8 e gers @
(A) (B)
(©) T )
() HgaRawH

67  The Southern most Himalayas are known as :
(A) Aravali B)
(C) Himadri (D)
(E)  Question not attempted
R (e aferor fewrera it fore e & ST ST & 2
(A) SUEt . «AB)
(©c feurr D)
(E) Fgaiaws

68 ‘ST, YIea foRd HT T ISR 82
(A) wEaTEH ®)
(©) =EfraTs (D)
(E) SAgui@sd

69 T A3 i amrm: o 32 S E?
(A) £B)
© = (D)
(E) aia 4

70 fFgaaE 7 gt 9g 9uH BId 87

50 i ®

© -
(E) ﬁﬂﬂﬁ aq

" mmq@%mﬁmm&aﬁmmﬁﬁ-
(A) STaAEE afed gead ®)
© e D)
®) IEra -

All] ®

L — T ——

Concentrated nitric acid (aq) reacts with copper to give

14

Copper nitrate and hydrogen gas
Copper nitrate, nitrogen dioxide and water

T ATFYE UA BRI
FIT ATZLZ, AGEI SIS U qrft

Ganga
Mahanadi

Shiwalik
Him:

T
T

afa yer
el Weqq

[ BT.O,
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7 How many numbers from 11 to 70 are there which are exactly l||\fISlb|C by 7 but not by
() Six (@) ‘hin
© \\\“o (D)  Seven
(B)  Question not attempted A8
1R 703 e Rl s i 7 2 o v e 3 8 anirn
() o ® A e
(© (D) W e
(E) R et uw o0
73 Amanggthe following words according to dictionary arrangement; £
PR vt ) wrseraeh (e SRS 3 arpam spaftur fin)
a. Except b. Expccﬂ
Excess d, Exit
Choose the moxt appropriate answer from the options given bc.i(-}.w.‘ﬁ
M Ry ﬁaﬁﬁ%w&mmm?ﬁt "
AN acdb (B) b, drallc
© m. d. ¢ (D) ¢, diayb
(E) Question not attempted / A Wi o0
kL] Chmsc"ﬂi,'c venn diagram which best illustrates the three given clasgc::;s?:
RARARUSR U IIELS LT ) EENE SR iy i
Flowers, Red, Fruits. . "
: " ) \0
S
w KB (200 )
m o
78] b
@ (oo o @D
A 1
- i H
(E)  Question not attempted / TR W
75 Which (l:ﬂfhe following two states have a joint plan under Mahi Project? ;
(A) ajasthan - Haryana (B) Rajag}l;an - Madhya Pradesh
(©) asthan - Punjab (D) Rajasthan - Gujarat
(E) uestion not attempted -
aamamamm@mmm .0
[
A) ﬁm_m (B) ToHH - W yiyy
() USHNF -9 (D) TS - T
(E) ﬁﬂ&am v
76  The chAfkteristics of computer in which, computer can pcrform\lgffercnt types of tasks with the same ease is
known &%) m
(A) Diligence (B) S"".‘g.' .
© Versatility () Rl
(E)  Qlbstion not attempted
FR R e -4 fafireard, ﬁrﬁmﬁﬁwmﬁwﬂmq@ﬂﬁimmm
@) wfem e nﬁqﬁfum
© wedeh i e
(E) vafa wx

All] ® 16
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78

79

80

81

All)

Select the related word from the given options :
Animals : Zoology :: Blood : ?

(A)  Entomolagy (B) Hematology
(€)  Pathologyr) (D) Anatefny

(E)  Questionmnot attempted 2
o o fareredt @ wistfir vz v ww D (Y)
SIEEIS Giﬂﬁ'{rﬁﬁf.m +9
(A) TR B) At |
©) et © e
(E) i@ wer w

628, 429, 183, 249, 416
From the above g’ﬁucnce of given numbers, what is the sum of the unit dlglt ot‘ third number from left and tens digit
of the fourth number from the right?

ST Tt TS ¥ e aﬁ%?ﬁﬁmﬁmaﬁmﬁwaaﬁﬁ%ﬂ%miﬁm%mmﬂmﬁ

(A) 6 0 _(B) 3 [
© 5 © ® 7 o
(E) Qucstion‘ﬁ}%t attempted / 3TTafa W { \

el
Sushil is the son-in-law of Bhumi’s maternal grandmother Sangita. Ravi is.the only son- m—law of Bhumi’s mother.
How Ravi is relatedl to Sangita?
(A) Brothcr-lg‘aw (B) Grandson Ly
(C) Uncle = ' © (D) Husband og.*éganddaughter
(E) Questlon;Bt attempted
gaﬁaa@ﬁmﬁwﬁmmmarﬁra@aﬁmmqwmmﬁrrﬁrqmawm@

) FREH ®) 9= Lo
(C) 3w il Dy Wt waf o
(E) HguRaw ol
¢ i
Who among the lf{;.{]owing established mobile reading rooms and libraries at various places in Rajasthan?
(A)  Komal Kbthari | (B) Pt Jhabar Mal Sharma
(C) Acharya lf‘:.?l&'.i (D) Swami Keshwanand

(E) Question t attempted

frefafaa § & m%ﬁﬁ:wﬁmﬁaﬂaﬂﬁ“‘ﬂ@gmmﬁﬁwsﬁ?

(A) wmE (B)  wfveq wm o
(€) e e (D) W AT
(E) gaiawd o
o poed
Which of the folléwing leaders led the Bijolia movement?
(A) Surendra'Singh (B) Vijay Smgh Patluk
(C) Chuna Rgﬁ Punia (D) Kanwar Vuay Pal
(E) Quesﬁon%t attempted , !“‘
Praferfaa 7 & et st arider @ g frm o
&) gwhe ®) o g ot
© STy (D) e o
(E) m@ﬂagﬂ i
® = [ P.T.0.
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82  Barkana water falls is situated in which of the following state of India?
(A)  Odisha (B) Karnataka
(C) Goa {D) Tﬂmil Nadu
(E)  Question not attempted
Pretorfiar Tt # & st 3 faver e i e srenare fiord 29
(A)  fgm (B) #FAleH
(© i (D)  affierTg
(E)  Irgafawy :

83  Which of the following mineral is non-metallic and inorganic?

(A)  Graphite (B) Natural Gas

(C) Coal (D)"  Petroleum
(E)  Question not attempted

ﬁ%ﬁﬁﬁm@ﬂawﬁmqﬁmﬁmﬁ?

(A)  Tege (B) T g
© e (D) Wfeam
(E) srafaws

Read the Passage and answer the questions that follow: (Q. 84 to 87)
Show me a doctor who is not confused about nutrition and I will show you a doctor who has not kept up with research

brings new studies, new research and new health warnings. Nor do all the studies agree with each other. Often they an
contradictory and further confuse lay people.

Part of the problem is that many studies are financed by the food industry, whichlhqs a vested interest in the outcomes. An¢ 89
much of the so-called nutritional wisdom that has been propounded over th
out of the commercial interests of those passing on the advice,

The most famous example of this sort of thing may be the rule - rigi

e decades does not emerge out of pure science by

You can trace the roots of the advice to (surprise, surprise!) the American cereal industry and to such food faddists as the
Kellogg family (owners of the eponymous cereal company).
It has always been a peculiarly Anglo-Saxon idea. People do eat breakfast all over the wo
attach such great importance to it. Nor do countries without a breakfast tradition
instance, in France, breakfast may well consist of black coffee and a cigarette. The cigarette is not a good idea but the
absence of solid food in the moming doesn’t really hurt the French very much. Until the fast food industry spread all over 29
France in the last decade or so, the French had much lower rates of heart disease than most English-speakin g countries,
In the US, the bogus breakfast orthodoxy has led parents to feed children sugary cereals and stuff |ike pancakes with sugy
syrup (often misleadingly packaged as maple syrup). There is finally a recognition that the breakfast-is-essemial myth ha:
actually contributed to a decline in American public health, the obesity epidemic and to tooth decay. Manufacturers o
sugary cereals are quickly putting out new ‘low-sugar’ variations.
Some doctors still insist that the first meal of the day may be the most important. But the scientific evidence
view that if you avoid breakfast nothing terrible will happen to you.

rld but they do not necessaril)
see a sharp decline in public health. Fer

supports the

84 Complete the sentence by choosing the correct option: 91 i
In reality the benefits from advocating the need for taking breakfast. )
&%) food Industry (B)  general public (
(C) French people (D)  children ¢
(E)  Question not attempted a

All] ® 18 ' [P.T.0 A11
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85

86

87

88

89

920

91

According to the conclusion of the passage, breakfast -
(A)  Contributes to an individual’s health, (B)  Is essential and not to be skipped.
~«C) Skipping canngt.harm you. (D)  Is the most significant meal of the day.
(E)  Question not gttempted ™M
u-u -yl
In America, obesity :lud tooth decay have assumed the proportion of an epidemic because of the -
(A) Consumption of savoury food (B)  Vested interest of the general public
(L)  Consumption of sugary cereals, (D)  Greek idea of bréakfast.
(E)  Question not attémpted i
= v
Bogus means 5 '
(A) Confident W AB) False W
(©) Big " 0N (D) True v}
(E)  Question not attempted =4
[ %
Identify the most appropriate idiom which can replace the underlined words: 89
Rohit has the reputation of complicating and confusing things when any issue is'raised in the meeting.
(A)  got our wires crossed (B) as clear as mud
<€) muddying the'Whters (D) incomplete shan'ries
(E)  Question not attempted
w0 W
Which of the followifigifacility is mainly provided by E-mitraplus initiative of R'Hﬁsthan?
(A) Video conferenicing <
(B) To apply for bifth certificate, domicile etc. i
(C) Payment facilfﬁ@for individual firms e
(D) GIS based De&?ion Support System =
Question not a'ﬁempted i
ﬁw%f@anﬁaﬁ:ﬁnﬁmg@ﬁ Tt i - e et 2T S A et &7
(A) difed FEHRT (B) ST wHTOT O, St & foe smae o
(©) fafire sfrE gy g A (D) St 31§, ww, i fofa werae womett
E) oEERawa (] M
i <
Which of the followipg-input device is used to input temperatures and moistare ete.?
(A) Sensors (54) (B) Webcam 18
(C) Scanners & (D) Joystics S -

fttémpted '
(E) Questionnota mpte ot 5 Jﬁ‘ﬁﬁmm%?

forfefiaa & & % AFEAYE ITHF
(A) @& O (B) W0
(C) @ s (D) SR M
(E) &FafE 94 '
~ [~
Identify the word tha.ggn best substitute the given expression: 0
Q

One who is too strongtp be defeated.
(B)  Invulnerable  pof

(A) Invincible
(C) Indefatigable .| (D) Insolvent 1
(E)  Question not attempted

19

Al ®

18
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922

93

94

95

96

97

98

All ]

Identify the most appropriate antonym of the given word from below:

APATHY Ly

(A) Fervor (3)  Stoicism
(C)  Stupor (D) Aloofness
(E)  Question not attempted '

Choose the most appropriate option from below to complete the sentence:
A formal letter concludes with a -

(A)  Heading
(C)  Salutation
(E)  Question not attempted

(B)  Subject
(D)  Signature

ﬁqﬁﬂﬁmﬁm%a@h%ﬂ%mmﬁnﬁmaﬂﬁm@ﬁ%mﬁ{cmﬂmMfﬁafzmmt?
(A) T fam, 1976 (B) T arfufam, 1963

(©)  usv afufem, 1967 (D) T e, 1973
(E)  argafia war

“rater JT°, Frr 7 @ for dreft 3 vt sar &

(A)  WuIH ey (B) 3 Qe

(C) wew gey (D) 3= gy

(E)  3raf@ war

Which of the following language is not included in the Eighth Schedule of the Constitution?
(A) Santhali i (B) Nepali

(C) Sindhi (D)  English
(E)  Question not attempted

Wﬁaﬁﬁmmwﬁﬁm#maﬁﬁmﬁaq@fﬁ?

(A) et (B)  Aureft

(©) faeft (D) 3iish

(E) safa '

Who was awarded Major Dhyan Chand Khel Ratna Award 2022 for Table Tennis?
(A)  Soumyajit Ghosh (B)  Kamlesh Mehta

(C) Manika Batra (D)  Sharath Kamal Achanta

(E)  Question not attempted

Forar fearemsh 1 2arer 2frer & o s i Qe Tt e 2022 e R

(A)  drersfa di (B) Wl Near

(C) ufamren (D) I W r=tar

(E) sgufe gy

Which one of the following is not a Fundamental Right under the Constitution of India?
(A) Right of Freedom (B)  Rightto Education

(C)  Right to Property (D)
(E)  Question not attempted

Freferfiar & & w3 a sivedvar wiferam % awa e syt &2

Right of Equality

(A)  @daan &1 sfirpn ) e il
(c) Hufa =1 siftran (D) WA T Afkyy
(B) gt sea

® g 20
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100

101

102

103

104

A11]

Choose the most appropriate option to complete the given sentence.

They withheld his results. He the proof of his age.
g doesn’t furnish (B)  has not furnished
(C)  had not furnished (D)  didn’t furnish

(E)  Question not attempted

Choose the most appropriate option to complete the given sentence:

There was knock on door. I opened it and found small dark man in blue overcoat and
woollen cap.

(A) a,a, the, the (B) a, the,a, a

(C) the,a, , the (D) an,the,an, a

(E)  Question not attempted

Which of the following three years were declared as Plan Holidays from five year plans in India?
(A) 1969101972 (B) 1957 to 1960

(C) 1961 to 1964 (D) 1966 to 1969

(E)  Question not attempted

T & Gaadta DaTeT § & et 3 O i & o auT sy e STaeT S fERar g9

(A) 1969# 1972 (B) 1957 ¥ 1960
(©) 1961 % 1964 (D) 1966 ¥ 1969
(E) gaiays

Dr. Savita Ben Ambedkar inter-caste marriage help scheme was launched in the year-

<. Tl 3 e Sasidg faTe e A Feffad § | e ad § oy i ot
(A) 2012 (B) 2006

(C) 2007 (D) 2010

(E)  Question not attempted / Faia 94

Rajasthan handicraft policy has come into force on
(A) 23 November, 2023 (B) 17 September, 2022
(C) 18 September, 2022 (D) 20 December, 2023
(E)  Question not attempted

T g Afifd = e g8 o
(A) 2376w, 2023

(C) 18 fade, 2022

(E) gaf@ s

NITI AAYOG was established on: (Choose the mos
(A)  1#January, 2015
(C) 15" August, 2014
(E)  Question not attempted
<A st B e o 1 i Fe @ e 3 P )
(A) 157ad, 2015 (B) 1 5=ad, 2014
(C) 15374, 2014 (D) 15377, 2015
(E) Iruf@
® A, [ P.T.O.

(B) 17 fidsw, 2022
(D) . 20 fwsw, 2023

t appropriate option from below)
(B) 1% January, 2014
(D)  15™ August, 2015
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105 Choose the correct combination from below:

(A)  RRB - Agricultural Finance (B)  1DBI - Shaf/Term Loans

(C) RBI-1 m\&,‘q crm Loans (D) SBI - Moddtiry Policy

(E)  Question yot attempted Til

Freafeiaa mfrﬁm v ) g -

(A) IR AW maﬁaﬁm (B) . @, sftoqé, - srewRfa® F
(©) W, 8- Aefaferas swor (D) ug. aft, sqrfd oz ifa

(E) i@ sni“* i

19917
106 How many mduqtncs were reserved only for public sector before the dcrgguhlmn of the Industrial Scctor in

(Choose the most.ppropriate option from below)

1991 7, aﬁa‘rﬁ#&%&:ﬁﬁm%qﬁ mmm%mmﬁmmmmﬁmamwﬁmﬁ
A 17

(B) 20 e
©) 14 g D) 24 @
(E)  Question @attempted/ﬂfﬁfﬁﬂ"ﬂ’ﬁ a

| , -

107 T8 & Si-a yea-diftrr o a9 39 "
(A) Sfades _ (B) iRy O
© T ©) TG
(B) swfaws) -
N [~

108 FE ATy RumE. . 0
HU - 1 - fererm 2 v s foroy e 3 fore R st 24 O
o - 11 « R £t s rere v & v ved ot @ s :j

Eﬁﬁmﬁ%m@ﬁﬁﬁﬂ%ﬁgﬁﬁﬁﬁﬁﬁmwwﬁr

(A)  FYA 17T 2, g e 1w R) (B) Wlaﬂtl}’iﬁﬂﬁﬁl
(€ FHIARYAF T (D) FAI mﬁ%,]%m e &)
(E) gafa 94rn) =
=< I~
109 fr=fafaa § & e afai sen s 0]
a. ] W b. o o
c G Q d. T -
' rq -
¢. q !""l
A1 faw o forrent & & wraiferes suge s o v AR W
(A)  Faab,dufite (B) Facb, ¢ 3y
(C) %ﬂaa,cgﬁc (D) mu.dﬁtc
(E) Wiﬂfmu*lz\ o~
. 0 -
110 ‘Deputation'ﬁii@ﬁa}ﬁmﬁh;mg. v
(A) FEf ) wfafgle
© fafs ) wfoyfa
(E) wqui@ g
All] & 22 [ P.T.O-
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111

112

113

114

All ]

frafafaa § & onfieer s ga s e-

(A) snfsfa=r (B)  Ififa
© wff (D) smfifeat
(E) Yfafta us

Cooperative movement in Rajasthan region was started in the year ______. (Choose the most appropriate option

from below)

TSR & § WEHRT A o e o it g 1 (Pt & & e 3 forpe )
(A) 1914 (B) 1904
(© 1910 (D) 1912

(E)  Question not attempted

Given below are two statements:

Statement (I): Sodium metal is stored in kerosene oil because it is highly reactive.
Statement (II): Sodium metal reacts vigorously with nitrogen.

In light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is incorrect but Statement (II) is correct.

(B) Both Statement (I) and Statement (II) are correct.

(C) Both Statement (I) and Statement (II) are incorrect.

(D) Statement (1) is correct but Statement (II) is incorrect.

(E)  Question not attempted

i e Ry &

o (I): Sifeas utg ) it 3 et 3 wafea form sar & =it 78 sreaftrs sl gl
o (11): TIFEaT U AEZe & Sererar & wfafswar e 81 _

e ot 3 it , A3 Ry et 8 & Fa 39g IR

(A) T (I) T & S e (1) Fe 81 (B) A (1) AR A (1) 31 |l 81
(C) = (1) 3 = (11) 2T & rera &) (D) & (1) 9 & S Fu= (1) e 81
(E) sgaia

Cyber security is also called, “Security of Information Technology™. It is used mainly to:
(A) Used to send letters by post
(B)  Connect different computers together
(C)  Used to share the resources on internet
(D)  Stop unauthorized access into various computers
(E)  Question not attempted
aa g @, e e @ g, ft FE S f e swm Rl wat & R fen
ST 8:
(A) Wl =1 2T T e & ferg
®) faf=degedi s -6 AT
(C) etz T HuIaRt 1 syqq i wied i waw & ferg
) Ffirt s & srafirg gurm @ de & e
() rgaf@us
® % [ P.T.O.
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15 In which year the Indian Space Research Organisation (ISRO) was set up?
Freafeafies & & o o 4 ¢fier v et st (ISRO) aﬁrwwaﬁﬂéﬂﬂ‘zg
(A) 1952 o (B) 1962 (}-.
1969 ™ - e «f
(E)  Question nnEii!tlcmplcd / argafa ua i
o
116 Which of the ﬁ’“m"mg facility is nof provided by the Rajasthan Sampark Pona.{?“i
(A)  Automatie §B}cch Recognition (ASR) (B) ' Grievance Rcdrcgs_.(_i |
(C©)  GIS integration and data analytics (D) Vich-confcrcngigF
(E)  Question uot‘;ttcmplcd
ﬁ%ﬁﬂﬁiﬁ@mmm%mm?ﬁﬁmﬁ? O
~A) ﬂﬁﬁﬁmvﬁﬁﬁiﬁmﬁm (ASR) (B)  fersrerdi 7 ey,
(© ft. e CHTEHIRoT 3R Siargt whr frsdwor (D)  fifear wihfem w4
(E)  srgaf@werp I
8 &
117 Fill in the blank b}ﬂ:—:l\loosing the most appropriate option: o
He was indignant ™ being cheated by the smooth talk of the salesman. :j
A) at ™ (B)  with :
(C) in (D) of
(E)  Question no“a‘ttempted i ' @
" {}
ot ) <
118  Change the direct sggech into indirect speech by selecting the most appropriate,option from below:
He said,

I do not wish to see any of you, go away.

08’

(A) Hetold thatdie did not wish to see us and ordered us to go away.
~B)  He said thatihé had not wished to see any of them and ordered them to gdatvay.
(C)  He told that'h@ did not wish to see any of tl.le'm and ordered them to go a\’ir?;;y_
(D)  He said that he does not wish to see any of us and ordered us to go away.
(E)  Question notéttempted ) ¥y
™ ™M
119 Change the sentenceinto passive voice by choosing the most apprapriate OptioE‘
They feed the sealstﬁ the zoo _tw_i:_:M . =
AK)  Twice a day,the seals are being fed at the zoo, (B)
(C)  They feed the seals twice.n day at the zoo,

(E)  Question notaftempted

Q
The zoo feeds tl}seals twice a day,

(D)  The seals are fedtwice o day at the zoo.

v
120 In Rajasthan puuin};q gold nail between the teeth is known as:- \O
(A)  Borla (B) Daamna g‘:
(C)  Baari (D) Choonp N
(E)  Question na tempted 0y
ST 2Fel 2 St 3t i ot e e o) s v e s & ¢y
(A) @ vl (B) & v
© =l 1 (D) €9 4
(B) rgaf@ g :
Alll ® . 24 (P10
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121

122

123

124

In which Rajasthani folk dance, dhol, bankiya and thali arc used as the main instruments?
(A) Gair (B) Ghudla
(C) Chang 0 (D) Dandiya

(E)  Question not attemptad ) :
TSIEIH % %q?ﬁmqaﬁ@a,mﬁmaﬂrmzmmgmmm%mu fzmsmt

w0
M
#

(A) W ™ (B) e 0
() =m ) (D) zife P
(E) omafa s 3 —
™
Where is Nataniyon Ki Haveli situated?
(A) Lakshmangarh O (B)  Jhunjhunu WO
(C) Churu ; (D)  Jaipur (7
(E)  Question not attcmg;.)d <!
serfort 1 wieh el o R &2 P~
(A) TG (38 ' (B) FFL o
© ITF O (D) L o
(E) Iguf@wd el v
- 1
Name the person who went on a fast in 1952 demanding a separate State of Andhra and died during the fast.
(A) B.P.Sarabhai  i(j (B)  Potti Sriramulu \O
(C) Sriram Gandhi (V) : (D) Ramlal Gaya g

(E)  Question not attempted

3 Safes 1 19 AR 1952 # gue iy T Y T ¥ e A m A T 9, ﬁt%w%ﬁms‘rmcﬁﬂér

Tt o (£8)

(a) #dmrg & B) S{
(C) et :; (D) THSATH T i
(E) HIA@wd

B Y & O
Given below are two stalc[r;e’nts: m

Statement (I): In the context of the revolt of 1857, the term revolt refers primarily 1a'the uprising of the civilian

population. ™ E
Statement (I1): Mutiny W5 a collective disobedience of rules and regulations withirfile armed forces.

In light of the above staterficnts, choose the most appropriate answer from the options@’en below.
™

7

(A) Statement (I) is incorfect but Statement (I1) is correct,

(B)  Both Statement (I) Kiill Statement (11) are correct. &
(C) Both Statement (I) and Statement (I1) are incorrect. ).
(D)  Statement (1) is co 162t but Statement (11) is incorrect, :;Lj
(E)  Question not attemptéd =

fra &1 %o fag o #: P ~
oA (1): 1857 % fazie ;%mﬁﬁﬁﬁxﬂﬂﬁﬂmﬂmmmaﬂmﬂﬁﬁw ad
e (1): e (ot wang e s sftre it st fafanil 0 aifees sty (o

Ik AT o AT H, i@ fav g faaredi 1 @ @aE IUGH TG s’
(A)  FF (1) e & A g (1) e B) T (1) 3w (1) it 3
(C) A (1) AR & (11) &t ¥ rera €1 (D) (1) et & Sz (11 ey
(E) . gaia ug
S - [PT.O
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: iven by henna?
125 Which of the following is responsible for the dark brown or reddish colour gi

(A) Hydroquinine (B)  Luciferin
(C) Mclanin (D) Lawsonc
(E)  Question not attempted

m:mm\mmnhummaﬁgﬁnﬁaﬁgﬂﬁﬁamﬁﬁmmﬁ?

(A) wEgifEaEa (B) ftHE
(C) wafw (D) @A
(E) wqaf@ww

126  Zinc reacts with dilute nitric acid (aq) to give
Frefirfieer et 3 fore st g 1efa o1t (aq) & sfafean 21
(A)  Zn(NO,),+NO +H,0 (B)  Zn(NOy),+H,0+N,0
(€)  Zn(NOy), +H, (D) Zn(NO,), + H,0 +NO,
(E)  Question not attempted / S 99

127  Which of the following is not a part of chromosome?
(A) Chromatid (B) Satellite

(C) F, particle (D) Centromere
(E)  Question not attempted

Fra (qereR) F Fefafaa § & @9 e e @) 7@

(A) TWEE B) T
(€)% (D) b
(E) rufaws

128 Which of the following is nof a Kharif crop?
(A) Rice (B) Maize
(C) Pearl-Millet (D) Gram
(E)  Question not attempted
frafafea § @ 219 vs als wod 7 &7
e (B) W
€ W (D) =
(E) wqwfaug

129 If ‘threat’ is coded as 289512, then *BRIDGESTONE® will be coded as:

R “threat’ #1 F1e i 289512 z2rer foray e 8, a1 *BRIDGE§TONE' %1 %18 €y,
—fR) 29947512655 29 (@) 27947513855

(C) 29947612955 (D) 28947612855

(E)  Question not attempted / rafa um

All]l ® 26 (P10
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T e o o,

130  Amarand Akbar start walking in opposite direction. Amar walked 24 km and Akbar walked 7 km. Then Amar turned
left and walked 7 km and Akbar turned right and walked 24 km. How far is each of them from the starting point?
(A)  31km () 27km O
(C) 25km 'O (D)  26km ™
(E)  Question not attempted <

wﬁm#%ﬂa%ﬂaﬁm%M|mz4ﬁ oy, st aite syt 7 6, Y, AT aerera s At e o
7ﬁ.m.waﬂtmaﬁg@h)4ﬁ: oft, <y | A s e fig @t P gl e OO

(A) 31 fE 1) 27 f . -t
Jor st S (D) 26 ., ::
(E)  gufea s -

131 A.B,C.D.Eand F are sitting it @row facing north. E and F are in the center, and A and Fti;\rc at the ends. C is sitting
on the immediate left of A. Whei sitting on the immediate right of B?

A, B.C, D, E 31 F u ft # Iwtehl aii e e 48 8 E s F 37 7 E, aﬁmaﬁwmw?:c A % 4 13 T

T 33T 81 B & Sie 31 TIH WA AT 22 0o
D © ®B) E o
© < ®) F -
(E) Qucstwn not attempted Fﬁiﬁﬁﬂ W g |

132 Select the option that is related to lhe third letter cluster in the same way as the second Itht(gr cluster is related to the

first letter cluster.
ﬁnﬁﬁwﬁmwwaﬁmﬁhqﬁu mu&g&aﬁmmﬁa%ﬁmmﬁaﬁn@ﬂmmwwq

(] <t ™
WOUNDS DNOSUW : : ALMIGHTY : ? Pos)
G!LHMATY Ci) (B) AIGHTYLM. )

(C) AIGHLMTY (D) AGHILMTY i
i

(E)  Question not attempted /i f‘ﬂ’fﬁﬁﬂ

There is a definite relationship between figures (i) and (ii). Establish a similar relationshipbetween figures (iii) and

133
(iv) by selecting a suitable ﬁgu}g’fmm the options. So select a figure from the options thd} would replace question
mark (?) <
HF (i) 3ﬂt(:u)$aﬁat{a:ﬁf‘mm%| ﬁwﬁﬁﬂm%wmmmumm)mzﬁamm
warfra #4 Zafo fagedi 4 4 ﬁm@ﬁwwaﬁwﬁ(")wmwmﬁu
Problem Figure /manqsﬁf = S
AN i ? v
& [\
O
o ot
= (1 (S >
" @ ™ "’/) v‘a o
® o
@ r~l
(©) @9 ! (D) H
i
(E)  Question not attempted / 3T ¥4
Alll ® 27 [ P.T.O.
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11 .. ey, | e -

- ; by 8%, the fraction becomg, 13
134 On increasing the numerator of a fraction by 15% and decreasing its denominator by 8% . ']\6 !
the original fraction is:

15
A faran s ot Pt 1 A — RIS )
afe w1 % afar ) 159w fa st she gk v A 8% wer e st e fr 16 ‘E‘Iﬁrqaa
fifsm

(A) % (B) %
4C§ % (D) %

(E)  Question not attempted / 3rafa vo

135 Amit, Sumit and Vinay divide an amount of T 2800, amongst themselves in the ratio of 5: 6 : 3 respectively, If 2
amount of ¥ 200 is added to the share of each, what will be the new ratio of their shar\cs of thc.arhr.loum? )
i, gt ok B % 28006 e s - 6.« 3 i 3 fefora w0 o 81 af v 3 Rt i 2 20037z 5
arafi # 3% fedi ot o ST T BT
(A) 4:5:2 (B) 6:9:4

A€7 6:7:4 (D) 7:8:5
(E)  Question not attempted / 31afa wy
136 Who was the Deputy Prime Minister and first Home Minister of Independent India?
(A)  Rafi Ahmad Kidwai (B)  Mahatma Gandhi
(C)  C.Raj Gopalachari (D)  Sardar Vallabhbhai Patel i
(E) Question not attempted e
T WA F et - 3 78 e 7
(A) Tt 37eme frgad (B)  w@TenT wiefy
©) #i. U MrerEr (D)  HER TEeTs geey
(E) sqafmug
137 After the partition of India in 1947, which of the following archaeological sites remained on the Indian side ?
(A) Kalibangan (B)  Harappa
(C)  Mohenjodaro (D)  Gunveriewala
(E)  Question not attempted
1947 ﬁm%ﬁwq%mﬁnﬁrﬁaﬁﬁﬂqmwﬁammm%w%ﬁﬁwm 9
(A)  =Freftam (B) wgwm
(€) ez - (D)  idaTE
(E) zafauy
138 Who is the family deity of Bikaner royal family?
(A)  AaiMata (B) Kami Mata
(C)  Jeen Mata (D)  Sakraya Mata
(E)  Question not attempted
F Hfir e fran Feadt #7
(A) 7§ mrar (B) ot w
(C)  fivr mren (D) W Hrar
(E) wqafaug
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139 Poona Pact 1932, was associated with which of the following Leaders?
(A)  Mahatma Gandhi and Dr. Bhim Rao Ambedkar
(B)  Mahatma Gandhi and Muhammad Ali Jinnah
(C)  Dr. Bhim Rao Ambedkar and Muhammad Ali Jinnah
(D)  Mahatma Gandhi and Pt. Jawaharlal Nehru
(E)  Question not attempted
g w1932 Rt 3 & e Sarsil @ wifi ar
(A)  HETeHT TiHT O 2 i sraEaR
(B)  weTeHT it 3R e aveht o
(€) 1. N snarea ud qew avett o=
(D)  WETeRT i ug 4f Sarete Yo s

(B) guiEws

140 Who established Depressed Classes Association?

(A) Muhammad Ali Jinnah (B) Mahatma Gandhi
(C) Dr. Bhim Rao Ambedkar © (D) Jawaharlal Nehru
(E)  Question not attempted |

3fera =t wraw, e wnfia fomam

(A) TR et R (B)  weTcHT TIedT

(C) Eixfmug staiEga (D) TETETETS Ae®

(E) i s

141 SVAMITVA Scheme is associated with
(A) Soil conservation in rural areas.
(B) Water conservation in urban areas.
(C) Demarcation of inhabited land in rural areas.
(D) Property survey scheme in rural areas.
(E)  Question not attempted
(A)  Tmftor st  frgt o Eerr
(B) &t sl A el HedA
() ity SR i ¥ Mifd 6 HHR
(D) syreftor seTat 8 T GEEr AT

(E) aRasd

142 National Panchayati Raj Day is celebrated on .
(A) 26 April (B) 20 April
(C) 22 April (D) 24 April
(E)  Question not attempted

tr@m‘ramﬁwﬁaa_____aﬁqwm%l

@A) 26 3T B) 20 3%
© 2230 (D) 24 3@
(E) i@ ss
Alll ® ‘ 29
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143 Which of the following is not a Constitutional Body?

(A)  National Human Rights Commission \O
(B)  Union Public Scrvict'Commission (?
(€)  Finance Cnmmissig\)‘ -*‘
(D)  Election Commissiﬁ' i
. ; W 0
(E)  Question not attem tc;d O
QR 0 s e & o
(A U wETrE R 4
(B) ¥ & ar 3w g '
© fawamm 0
@) FmEamm g ot
(B) vgafwaws ™ -
< &
144 The simple interest of a cettain sum of rupees for 8 years at 7.5% annual rate is ¥ 750§§Vhat is the simple inter,.
same sum for 8 years, if the tate of interest is increased by 2.5%7 O
R 7.5% T s Ay gl S em R 7,500 AR ST et 1% e ST AT 2.5% o
T 8 T & o s g i
(A) T 12,000 (B) T 20,000
(©) T 12,500 AL AB) % 10,000 D
(E)  Question not attempted / i war ™
= =
145 9@ U € W % w5 a1 i By areray SN T ST Tl 3 T T - S ) e 89
») The © ®) TEw =
40 i 3 D) sEwEr =
(E) swufa s - :-i
146 Frefafes 3 R e et wfy frda @ W0
(A) frar+smew m B) fr+smw m
(C) fEn+2m < (D) g+ amw E Y
(E) qufaun ™ >
0 8]

147 Which of the following sttement is not correct about th
(A) This region owes ils_ﬁcvelopmcnt to being rich
Valley.

¢ Chhota Nagpur Plateau ln@rial region?

in iron ore from Jhnrkhand-&ﬂsha and coal from D
™

(B)  This region is popularly known as “Ruhr of India™,

(C)  This region extend Yq’ver Jharkhand, Chhattisgarh and Andhra l’ra.desh, \D
(D)  Ranchi, Dhanbad, Pibasn,

Sindri are some important industrial centres °f1hiaieginn.
(E)  Question not atte ted

ﬁqﬁmﬁammmwammmmmamﬁmwm E;;

(A) mﬁamﬁmm@}-aﬁﬁmﬂmmaﬂxwﬂum%mﬂmm}mwg,

(B) U8 & ura & ey, 4 @ faveama B ™

(©) ﬂuﬁwm.mmantmu&nwfﬁmgmm ™

(D) T, vz, s, i, v 8t s et et 8y

(B) i wa ;
All]l ® 30 (PT
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148  Which of the following statement is mor correct about the Tertiary Coal?

(A)
(B)
©
(D)
(E)

It is found in the rocks of the oligocene period of the Tertiary Era.
It is also known as the brown Coal,
It is an inferior quality Coal,

It contributes to about 25% of the total coal production of the country. |
Question not attempted

ﬁ%ﬁﬂﬁmm%%%@ﬁﬁ?ﬂ%}

(A) T8 A G & i wrer it =zt i grar wmar 21

(B) T VU ST & 90 A +ft ST S )

(C) e = T 1 e drar 2
(D) T 2 & Tl FHIAT IeqT2A F 25% 7 3972 27 21

(E) rgufa

149  Karewa formation are useful for the cullivatidn of

(A) Coffee !

(B) Zafran/Saffron ° y

(C) Cotton

(D) Jute p

(E)  Question not attempfed r

FET T (Hiae) feresht Gt & fore 3o 22

A FTR | ¥ ‘
(B) &t '
(C) =9

(D) =

(B) ot s

150 Which of the following river is right bank tributary of the Ganga River System?

(A) Ghaghara

(B) Ramganga

(C) Son v

(D)  Gomti !

(E)  Question not attempted

Freenfere i 1 2t 4, vy vy sy o1 e e 4 &2

(A) wmam

(B)  Tmm

(©) =M

(D) i

(E)  safaay
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